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Verifying Trigonometric Identities

1) Prove:

tan 6+2 cot 0 =
1) sin® @ +2cos’ 0 2) tan x + cot x =
sin@cosé

CSCX
COSX

l+sinx 1-sinx cosx—1 1-secx
A —— = 4tan xsecx =
3) 1-sinx 1+sinx 4) cosx+1 1+secx

1+ cosx
5) 1-cosx

cscx—-1  1-sinx
cscx+1 1+sinx

= (cscx + cotx)?

4 ot 4
—sin n“x-1
cos ' t—s t=cot2t—1 ta

=1-2c0s% X
7) sin’t 8)  secx

2) Verify the following identities:

1) (sinx+cosx)? —2sinxcosx =1
2) (sinx—cosx)®+2sinxcosx =1
. 2 . 2
3) (sinx+cosx)*+(sinx—cosx) =2
(sin x+cos x)? —(sin x—cos x)2 = 4sin X cos X

1-sinx  cosx
cosx  1+sinx

tan? x(1+ cot? x) =sec? x

cos* x =sin® x(cot x—cos x)(cot X +cos X)

cos* X +5sin* x = (1—J§sin X COS x)(1+ 2 sin xcos x)

sin® x +cos® x +3sin? xcos® x =1
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10) sin* x+ cos* x =1—2sin” xcos® x

11)sin* x—sin’*y = 12 - 12
sec’y sec’ X

1—tan?x

12)1-2sin’ x = -
1+tan” x

13)sin* x—cos” x =(sin x—cos x)(sin x+cos x)

14) tan® x+cot’ x + 2 = (tan x + cot x)2

sin® x

15)1+tan® x+tan’ x =1+ —
cos” x

1+2sinxcosx .
16) ————————— =sin X+ COS X
Sin X 4+ €0os X

Verify that: cscg (cosp+sing)= cotf +1

1-tan?A .
=cos? A —sin? A or not

If 3cotA=4 and A is an acute angle, check whether — =
1+tan” A

Verify:

1) tan48°tan 23’ tan42° tan67° =1

2) cos38°cos52° —sin38°sin52° =0
Prove that sec A (1 - sin A)(sec A + tan A) = 1.

Mathelpers.com Grade 10



file:///H:/PERSONAL%20DOCUMENTS/ONGOING%20PROJECTS/0%20FEBRUARY%202022/1.1%20Book%20Website%20Project/Set%201%20Books/Group%20A/Grade%202%20Term%201/Mathelpers.com

